D
O
D
D
C
O
S E—
O
[=
e
)
=

SWS310

Weigh Module

Download the Installation Guide:
EU-W:  English, Deutsch, Espariol,
Frangais, Italiano, Nederlands, Porfugués
7 EUN:  Svenska, Dansk, Norsk
1| EUE:Polski, Cestina, Magyar,
Pycckun, Turkge

1 [ Ru [ [ ez [ e o fox | se [er{w | fr|es|oefen]



METTLER TOLEDO

SWS310 / Tension Weigh Module » Installation Guide

Download the Installation Guide:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EU E:Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Before You Begin
Never extend or cut the load cell’s cable length.
Always remove the load cell before welding.

Calibration Certificate

KEEP O
DOCUMENTS!

@ Tools You Need:

Weigh Module Capacities and Clevis Thread Sizes

SWS310 Weigh Module Capacity Clevis Thread Sizes
50 - 300 Ib 3/8-16 UNC
500 - 3,000 Ib 5/8-11 UNC
5,000 - 10,000 Ib 1-8 UNC
15,000 - 20,000 Ib 1.375-6 UNC
50 - 100 kg M8 x 1.25
250 - 1,000 kg M12 x 1.75
2,500 - 5,000 kg M27 x 3
7,500 kg M30 x 3.5
10,000 kg M36 x 4

Optional Checking Configurations (Customer-supplied)

— ’4* 1/8" 1/8" —

i

Double Nuts

Check Rod

\

Vertical — |22

Column Four-Module Sysfem

e A = A Check Rod
'ﬂiﬁ mf] A |Emlm 4 \
| «— Side of Vessel
E _J ‘(—Gap Vertical Column
} I E%“H | Section A-A, Gusset Removed Three-Module Sysfem




Download the Installation Guide:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EU E:Polski, Cestina, Magyar,
m] fc i Pycckui, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310 / Tension Weigh Module » Installation Guide

Plan Your Layout

Rods Cables

Washer
T Double
Backing Plate ~ i l I — Backing Plate

Typical Support Structure

Stiffener Plate

Double Nuts

/ Backing Plate

Stiffener Plates

Customer- t(r)\%klrgg i?zrngbu T:Iood
Structural supplied cell capacity — r\éfer to
Support table on front side
«— lank or Hopper
METTLER
TOLEDO- | €70UNd «—— Safety Rod o
: Strap
Supplied
Chains

L l—— Tank or
Hopper
Mounting
Bracket
i USE SAFETY CHAINS OR -
T F 78 RODS TO PREVENT VESSEL
Pudo T ¢ f\ FROM FALLING IN CASE OF
/- Doutle LR\ Backig COMPONENT FAILURE
\Washer
Installation Tips and Precautions & Contact authorized METTLER TOLEDO
* Never extend or cut the load cell’s cable length. ﬂ service fechnician for sfarfup and calibration.
¢ Avoid moisture and dust. con-l-uc-l- Inform(ﬂion:
¢ Ensure voltage stability (use regulated power supply). > WWW.mt.com/contact

* Avoid overload and shock. © 2016 Meftler-Toledo, LLC
e Ensure good grounding. 05/2016 130328691B



METTLER TOLEDO

Zuglast-Wdagemodul / SWS310 » Installationsleitfaden

Installationsleitfaden herunterladen:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Vorbereitung

entfernen.

Calibration Certificate

KEEP O
DOCUMENTS!

@ Bendtigte Instrumente:

Das Kabel der Wagezelle niemals verldngern oder
kurzen. Vor dem Schweissen immer die Wdgezelle

-——©b§

3

Wadgemodulkapazitaten und Gewinde-g Gabelkopf

Kapazitit SWS310 Wigemodul

Gewinde-g Gabelkopf

50 — 300 Ib 3/8 — 16 UNC
500 — 3000 Ib 5/8 - 11 UNC
5000 — 10.000 Ib 1-8UNC
15.000 — 20.000 Ib 1,375 - 6 UNC
50 — 100 kg M8 x 1,25
250 — 1000 kg M12 x 1,75
2500 — 5000 kg M27 x 3
7500 kg M30 x 3,5
10.000 kg M36 x 4

[ &
i1

Optionale Prufkonfigurafionen (kundenseitig bereitgestellt)

[

I-

-l

Behalteramnd

Prieanga

Sy 1.
mj.:fl_.:l.rg\

Wipacysiam miil drl bodukn




Installationsleitfaden herunterladen:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,
[m] P ! Pycckuii, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

Zuglast-Wdagemodul / SWS310 » Installationsleitfaden

lhr Layout planen

Stabe
UniriageCchaiba
mmm —
(1)
m‘”‘“ﬂ | L SObpiaio

. p—— Tonk-f
Conmainer-
halfarung

i T _L SICHERUNGSKETTEN/-STABE VER-
I 1 WENDEN, UM HERUNTERFALLEN
SHzpiatie (L] L'f'— T .
oy - DES BEHALTERS BEI KOMPONEN-
/ Do STisE TENAUSFALL ZU VERHINDERN.
IR
Tipps und Vorsichtsmassnahmen fir die Installation ﬁ Kontakfieren Sie fiir Start und Kalibrierung einen
e Das Kabel der Wagezelle nismals verlingern oder kiirzen. qutorisierlen METTLER TOLEDO Servicefechniker.
e Feuchte und Staub vermeiden. Kontakidaten:
¢ Spannungsstabilitdt sicherstellen (geregelte Stromversorgung verwenden). > WWw.mt.com/contact
* Uberlast und Stromschldge vermeiden. © 2016 Meffier-Toledo, LLC
e Gufe Erdung sicherstellen. 05/2016 1303286918

A A




Descargue la guia de instalacion:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

SWS310 / Modulo de pesaje a traccion » Guia de instalacion

» www.mt.com/ind-downloads-sws310-sIs510

Antes de empezar

No amplie nunca la longitud del cable de la célula
de carga ni tampoco lo corte. Quite siempre la

célula de carga antes de empezar a soldar.

Configuraciones de comprobacion opcionales (suministradas por el clienfe)

Calibration Certificate

KEEP O
DOCUMENTS!

@ Herramientas necesarias:

P ———— @ ke g
i ] c -
%

Capacidades del modulo de pesaje y tamafios de rosca de abrazadera

cggu:éggfedg\lugg%lo Tamaiios de rosca de abrazadera
Entre 50 y 300 Ib 3/8-16 UNC
Entre 500 y 3000 Ib 5/8-11 UNC
Entre 5000 y 10 000 Ib 1-8 UNC -
Enfre 15 000 y 20 000 Ib 1,375-6 UNC vt ca T
Entre 50 y 100 kg M8 x 1,25
Entre 250 y 1000 kg M12 x 1,75
Enfre 2500 y 5000 kg M27 x 3 “’E’?f"\\ \{
7500 kg M30 x 3,5 Cotmna ekl Hie
10,000 kg 36 4 [ B[ | SecidnAA sporeranguls retrado R ———




METTLER TOLEDO

SWS310 / Modulo de pesaje a traccion » Guia de instalacion

Descargue la guia de instalacion:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,
[m] P ! Pycckuii, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

Planifique la distribucion

Varillas

Cables

l—— soparts

d& mantajs
da o foiva

o al depostio

1 UTILICE VARILLAS O CADENAS DE
r SEGURIDAD PARA EVITAR UN MAL
T LT—J\T FUNCIONAMIENTO DEL VASO EN

Pca

) CASO DE QUE SE PRODUZCA UN
ERROR EN EL COMPONENTE.

o

L= [11a-11]
Axindala

Precauciones y consejos de instalacion
¢ No amplie nunca la longitud del cable de la célula de carga ni tampoco lo corte.
e Evife la humedad y el polvo.
e Cerciorese de que la fension sea estable: use una fuente de alimentacion regulada.
e Evife las sobrecargas y los golpes.
 Asegurese de que la toma a tierra sea adecuada.

& a® Pongase en confacto con un fécnico de mantenimiento
ﬂ autorizado de METTLER TOLEDO para el inicio y la calibracion.

Informacion de contacto:
» www.mt.com/contact

© 2016 Mettler-Toledo, LLC
05/2016 130328691B



METTLER TOLEDO

Guide d'installation des modules de pesage par traction SWS310

Télécharger le guide d'installation :
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Avant de commencer

Ne prolongez ou ne raccourcissez jamais le cable
de la cellule de pesée. Toujours retirer la cellule de
pesage avant de souder.

Calibration Certificate

KEEP O
DOCUMENTS!

@ Outils nécessaires :
> —s
E
ra &= 11

Portées des modules de pesage et failles du filetage des chapes

sg’;‘;‘;:;es ndtles Tailles du filetage des chapes
50 - 300 Ib 3/8-16 UNC
500 -3 000 Ib 5/8-11 UNC
5000 - 10000 Ib 1-8 UNC
15000 - 20 000 Ib 1,375-6 UNC
50 - 100 kg M8 x 1,25
250 - 1 000 kg M12x 1,75
2 500 - 5 000 kg M27 x 3
7 500 kg M30 x 3,5
10 000 kg M36 x 4

Configurafions de controle optionnelles (fournies par le client)

=]
X,
o
v




METTLER TOLEDO

Guide d'installation des modules de pesage par traction SWS310

Télécharger le guide d'installation :
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

Ol -

» www.mt.com/ind-downloads-sws310-sis510

Planifiez votre configurafion

Barres

e 1/

[
L Modquada
| |||| |1 lbf”’rm

anl.u:hm-,____ﬂ

B X

Suppod da ™ ke
f- =T :]
TR
F:'nﬂ'lll:'Eu;—pm";: M—— Bor oo Ecudie
TOLHXD ——
e M——  Support
da fathon
pour cuve
ou frémila
7] JL UTILISEZ DES BARRES OU DES
L1 12 po CHAINES DE SECURITE POUR
Plagua o2 ~ ] _f_ ,
fxotion 13 L,J PREVENIR TOUTE CHUTE DU
L Eeou LR, Poqua e RECIPIENT EN CAS DE DEFAILLANCE

Cdables

Précautions et conseils d'installation
¢ Ne jamais prolonger ni raccourcir le cdble de la cellule de pesage.
e Eviter I'humidité et la poussiére.
e \eiller a la stabilité de la tension (utiliser une alimentation électrique régulée).
* Eviter les surcharges et les chocs.
e \/rifiez que la mise @ la ferre est adéquate.

2% Confactez un technicien METTLER TOLEDO
ﬂ agréé pour la mise en service ef I'étalonnage.

Coordonnées :
» www.mt.com/contact

© 2016 Mettler-Toledo, LLC
05/2016130328691B



Download della guida di installazione:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

Modulo di pesatura a trazione SWS310 » Guida di installazione

» www.mt.com/ind-downloads-sws310-sIs510

Prima di iniziare

Non prolungare né tagliare il cavo della cella di
carico. Rimuovere sempre la cella di carico prima
della saldatura.

Configurazioni di controllo opzionali (fornite dal cliente)

Calibration Certificate

KEEP O
DOCUMENTS!

@ Utensili necessari:
> —s
=
ra &= 11

Portate dei moduli di pesatura e dimensioni della filettatura della forcella S
Portata del modulo di pesatura Dimensioni della filettatura | ":H:. |
della forcella ;E;'
50-300 Ib 3/8-16 UNC
500-3.000 Ib 5/8-11 UNC _
5.000-10.000 Ib 1-8 UNC o
15.000-20.000 Ib 1,375-6 UNC - Aei ”"‘{"“
50-100 kg M8 x 1,25 | Lat> chel sl
250-1.000 kg M12 x 1,75 -
2.500-5.000 kg M27 x 3 | u%\ \{
7.500 kg M30 x 3,5 T —vl * Distare Cobnna varian Hie
10.000 kg M36 x 4 I Fl Sezmne A, stalfa angnlae rimo= Seama a 1o Moo




METTLER TOLEDO

Modulo di pesatura a trazione SWS310 » Guida di installazione

Download della guida di installazione:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
1 EUN: Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,

Pycckun, Tirkce

Plan Your Layout

Aste

=y

ﬂ

Snllum
o ELppOND

Foimin da

TOLEDO

monioggio
dial sarbainlio
o dalln

1]

- UTILIZZARE CATENE O ASTE DI
sl SICUREZZA PER PREVENIRE LA
RN CADUTA DEL SILOS IN CASO
pin o DI GUASTO DEI COMPONENTI

)
r
L & 3
A

Precauzioni e suggerimenti per I'installazione

¢ Non prolungare né fagliare il cavo della cella di carico.

e Evitare umidita e polvere.

e Garantire la stabilita della fensione (utilizzare alimentazione regolamentata).
e Evitare urti e sovraccarico.

e Garantire una buona messa a ferra.

W Doy gitivazione e taratura, contattare il fecnico
ﬂ dell'assistenza autorizzato METTLER TOLEDO.

Informazioni di contatto:

» www.mt.com/contact

© 2016 Mettler-Toledo, LLC
05/2016 1303286918




METTLER TOLEDO

SWS310 / Spanningsweegmodule » Installatie

Download de installatie-instructies:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Voordat u begint

Calibration Certificate

KEEP O
DOCUMENTS!

@ Benodigd gereedschap:

U mag de kabel van de loadcel nooit verlengen of
afsnijden. Verwijder de loadcel altijd voorafgaand
aan laswerkzaamheden.

> —e 3
%

Capaciteiten van de weegmodule en schroefdraadmaat van de bout

c“p""i"zge‘g’r::o‘f;‘;lﬁ""53‘ 0 Schroefdraadmaat van de bout

50 - 300 Ibs 3/8-16 UNC

500 - 3.000 Ibs 5/8-11 UNC
5.000 - 10.000 Ibs 1-8 UNC

15.000 - 20.000 Ibs 1,375 - 6 UNC

50 - 100 kg M8 x 1,25

250 - 1.000 kg M12x 1,75
2.500 - 5.000 kg M27 x 3
7.500 kg M30 x 3,5
10.000 kg M36 x 4

Optionele controle-configuraties (door de klant geleverd)

SyTh
IEr

i s
N [ o
e t Joctid £ N

| =t van het vat
”'f‘:'j_':."{\
T J|+r.m,._ Vorizta fokam \{ e
T &L ) Sectie A-A, haekheusel verwyderd Syskoam mat cha macuks




Download de installatie-instructies:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,
[m] P ! Pycckuii, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310 / Spanningsweegmodule » Installatie

Plan uw lay-out

Stangen Kabels

Caow | A M—— Valigmicssking \
toor band
“Totmo Keftingen
. —— Bl
pngEbas
Wk o
oy
Tt _L GEBRUIK VEILIGHEIDSKETTINGEN & -
- I . 1 OF -STANGEN OM TE VOORKOMEN
e v R
-y P DAT HET VAT VALT ALS EEN
[ T o TR S COMPONENT DEFECT RAAKT
Sy
||'|S'|'0"U'|'ie'|'ips en VOOfZOfgsmUU"egelen &2 Neem contact op met een vakbekwaam technicus
* U mag de kabel van de loadcel nooit verlengen of afsnijden. ﬂ van METTLER TOLEDO voor opstart en kalibratie.
® Vermild vochf en sfof Contactinformatie:

* /org ervoor dat de spanning stabiel is (gebruik een gereguleerde sfroomvoorziening). » www.mt.com/contact
e \lermijd overbelasting en schokken. © 2016 Meftler-Toledo. LLC
e /org voor een goede aardverbinding. 05/2016 | 303286918



Faca o download do Guia de Instalagdo:
EU-W:  English, Deutsch, Espafiol,

Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,

Pycckun, Tirkce

METTLER TOLEDO

SWS310 / Modulo de Pesagem de Tensdo » Guia de Instalacdo

» www.mt.com/ind-downloads-sws310-sIs510

Antes de comecar

Nunca estenda ou corte 0 comprimento do cabo
da célula de carga. Sempre remova a célula de
carga anfes de soldar.

Configuracoes de Verificagcdo Opcionais (fornecidas pelo cliente)

Calibration Certificate

KEEP O
DOCUMENTS!

@ Ferramentas necessdrias:

P- G
P

7
== o

Capacidades de Médulo de Pesagem e Tamanhos de Rosca da Forquilha Vel Sk
40 Modund e Poanie, Tamanhos de Rosca da Forquilha l' "% ” 'I‘
50 - 300 Ib 3/8-16 UNC
500 - 3.000 Ib 5/8-11 UNC
5.000 - 10.000 Ib 1-8 UNC ‘“ "— -
15.000 - 20.000 Ib 1,375-6 UNC A A B ““‘“'\"“'
50 - 100 kg M8 x 1,25 Lateral do redpiente
250 - 1.000 kg M12x 1,75
2,500 - 5.000 kg M27 x 3 ‘ ”’E’ffk\ \{
7.500 kg M30 x 3,5 5 -.I %L Coluna varicl @
10.000 kg M36 x 4 - Seg2a A-A, Camtmmel removida PRhp——




METTLER TOLEDO

SWS310 / Modulo de Pesagem de Tensdo » Guia de Instalacdo

Faca o download do Guia de Instalagdo:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

Planeje seu layout

Barras

Supio
Pl
Fomackio T

e gEm
WEITLER mania
TOLEDD

—— Supons de
montogam

4

ar

=

Ao e
o

P o Mg

POTE dUpEE

Mxa da Eupor

oo fangque cu
de framonna

USE CORRENTES DE SEGURANCA

N
Correntes

OU BARRAS PARA PREVENIR A
QUEDA DO RECIPIENTE EM CASO
DE FALHA DE COMPONENTE

Dicas de instalacdo e precaucoes

¢ Nunca corte 0 cabo da célula de carga ou estenda seu comprimento.

¢ Evite umidade e poeira.

¢ Garanta estabilidade da tensdo (use uma fonte de alimentagcGo regulada).
e Evife a sobrecarga e o choque.
e Garanta um bom aferramento.

&2 Enfre em contato com um técnico de servico auforizado
ﬂ da METTLER TOLEDO para start-up e calibracdo.

Informacoes de Contato:
» www.mt.com/contact

© 2016 Mettler-Toledo, LLC
05/2016130328691B



METTLER TOLEDO

SWS310/Spdanningsvagningsmodul » Installationsguide

Ladda ned installationsguiden:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Innan du borjar

KEEP O
DOCUMENTS!

@ Verktyg som du behover:

-——©b§
%

Forlang eller forkorta aldrig lastcellens kabelldngd.
Ta allfid bort lastcellen fore svefsning.

Calibration Certificate

Vagningsmodulens kapaciteter och storlekar pd gaffelbultar

SWS310 Vigningsmodulens

Storlekar pa gaffelbultar

kapacitet
50 - 300 Ib 3/8-16 UNC
500 - 3 000 Ib 5/8-11 UNC
5000 - 10000 Ib 1-8 UNC
15 000 - 20 000 Ib 1,375-6 UNC
50 - 100 kg M8 x 1,25
250 - 1 000 kg M12x 1,75
2 500 - 5 000 kg M27 x 3
7 500 kg M30 x 3.5
10 000 kg M36 x 4

Valfria kontrollkonfigurationer (Tillhandahdlls av kunden)

Vo da puie

Columng —
wical

varilio o puiodn

e~




Ladda ned installationsguiden:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
1 EUN: Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,
[m] P ! Pycckuii, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310/Spdanningsvagningsmodul » Installationsguide

Planera din layout
Stavar Kablage

NI
oz _?;
J
mmw 1) Poca ey

i e e - i
1 I |

—— Sopors
d& monhajs
e I Tohg

o al deposin

N ANVAND SAKERHETSKEDJOR

e | - ELLER -STAVAR FOR ATT

UNDVIKA ATT KARL FALLER

s~ ML LT e
posirar (1 — \
/ L o e VID KOMPONENTFEL

= = um - - [+ -
Installationstips och forsiktighetsatgarder ﬁKon’rok’ro behorig tekniker fian
e Forlang eller forkorta aldrig lastcellens kabelldngd. METTLER TOLEDO for start och kalibrering.

« Undvik fuk och damm. Kontaktuppgifter:
e Sdkerstall stabil spanning (anvdnd reglerad stromitillforsel). » www.mt.com/contact

e Undvik Overbelastning och elekiriska stotar. © 2016 Meftler-Toledo. LLC
e Sdkerstdll bra jordning. 05/2016 1303286918




Download installationsvejledningen:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

SWS310 / Treekvejemodul » Installationsvejledning

» www.mt.com/ind-downloads-sws310-sIs510

Fgr du begynder Valgfri kontrolkonfigurationer (leveres af kunden)

Forlceng ikke, og skeer aldrig i vejecellens kabelleengde.
Fjern altid vejecellen fgr svejsning.

Calibration Certificate

KEEP O
DOCUMENTS!

(2) Nedvendigt veerkig;

3 c ‘

Vejemodulets kapaciteter og gaffelbolfgevinds stgrrelser

SWS310-vejemodulets kapacitet Gaffelboltgevinds stgrrelser I'
50 - 300 Ib 3/8-16 UNC
500 - 3.000 Ib 5/8-11 UNC
5.000 - 10.000 Ib 1-8 UNC o
15.000 - 20.000 I 1,375-6 UNC '""““"“\
50 - 100 kg M8 x 1,25
250 - 1.000 Kg M12 x 1,75
2500 - 5.000 kg M27 x 3 N \{
7.500 kg M30 x 3,5 Lodmi sx Hie
10.000 kg M36 x 4 I‘ [FT |  Sek=nAA hmmeteshe afmonterst SStam med Yo MO




Download installationsvejledningen:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,
[m] P ! Pycckuii, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310 / Treekvejemodul » Installationsvejledning

Planlceg dit layout

Staenger Kabler

i MG e SE
— 11l fonk
gller benoidar
1o —h _i_ BRUG SIKKERHEDSKZADER ELLER .
P R | 1ar -STZAENGER FOR AT FORHINDRE,
AT BEHOLDEREN KAN FALDE NED

| TILFALDE AF KOMPONENTFEJL

g

B
o
B
.

Installationstips og forholdsregler &= Kontakt en auforiseret METTLER TOLEDO-
e Forleeng ikke, og skeer aldrig i vejecellens kabelleengde. ﬂ servicefekniker for opstart og kalibrering.
* Undg@ fugf og sfav. Kontaktoplysninger:
¢ Sgrg for voltstabilitet (brug reguleret strgmforsyning). > WWW.mt.com/contact
* Undgd overbelastning og sfad. © 2016 Meffler-Toledo, LLC
e Sgrg for en god jordforbindelse. 05/2016 | 303286918



METTLER TOLEDO

SWS310/Strekkveiemodul » Monteringsveiledning

Last ned monteringsveiledningen:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Fgr du starter

Kabelen til lastecellen skal aldri forlenges, og skal
aldri kuttes. Ta alltid uf lastcellen fgr sveising.

Calibration Certificate

KEEP O
DOCUMENTS!

@ Ngdvendig verkigy:

-——©b§
%

Veiemodulens kapasiteter og sjakkelens gjengesta@rrelser

sws3;g;)\g§ii$£:rdulens Sjakkelens gjengestgrrelser
50-300 Ib 3/8-16 UNC
500-3000 Ib 5/8-11 UNC
5000-10 000 Ib 1-8 UNC
15 000-20 000 Ib 1,375-6 UNC
50-100 kg M8 x 125
250-1000 kg M12x 1,75
2500-5000 kg M12 x 3
7 500 kg M12 x 3,5
10 000 kg M12 x 4

Valgfrie konfrollkonfigurasjoner (fra kunden)

I- |- “"M""""E’““ﬁ"““




Last ned monteringsveiledningen:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310/Strekkveiemodul » Monteringsveiledning

Planlegg oppsettet
Ledninger

Stenger

Lowext ov T
METTLER args- —— Shdmchalcriong \
ENOpp . .
Kjettinger
©
MOTSO SN
I mi—— for fank
silar hoppar
T T _l‘_ BRUK SIKKERHETSKJETTINGER ELLER 5
= I L SIKKERHETSSTENGER FOR A HINDRE
Stptrapiote Lo L-f-—1 T
[ < AT BEHOLDEREN FALLER HVIS DET
[ e 4 OPPSTAR SVIKT | EN KOMPONENT
S
Installasjonstips og forholdsregler = & Konfaki en godkjent servicefekniker fra
* Kabelen fil lastecellen skal aldri forlenges, og skal aldri kuttes. METTLER TOLEDO for oppstart og kalibrering.
KO“'ﬂk"nformGS]On.

e Unngd fukt og stav.
e Sikre stabil spenning (bruk en regulert strgmforsyning). > WWw.mt.com/contact
© 2016 Metiler-Toledo, LLC

e Unngd overbelastning og stat.
e Sikre god jording. 05/2016 1303286918



METTLER TOLEDO

SWS310 — modut wagowy pracujgcy na rozcigganie » Poradnik instalacji

Sciggnij Poradnik instalacji:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Calibration Certificate

KEEP O
DOCUMENTS!

Przed rozpoczeciem

Nigdy nie przedtuzaj ani nie skracaj przewodu
czujnika wagowego. Przed rozpoczeciem
spawania zawsze wymontuj czujnik wagowy.

@ Potfrzebne narzedzia:

-——Obzé_
%

Zakresy wazenia modutu i wielkosci gwintow tgcznika

Zakres wazenia modutu SWS310 Wielkosci gwintéw tgcznika
Od 50 do 300 Ib 3/8-16 UNC
Od 500 do 3000 Ib 5/8-11 UNC
Od 5000 do 10 000 Ib 1-8 UNC
Od 15 000 do 20 000 Ib 1,375-6 UNC
Od 50 do 100 kg M8 x 1,25
Od 250 do 1000 kg M12x 1,75
Od 2500 do 5000 kg M27 x 3
7500 kg M30 x 3,5
10 000 kg M36 x 4

Opcjonalne konfiguracje kontroli (dostarczane przez klienta)

AT

i 8
] O
] Mgk IRy
S [
| PBok rhiamia \‘

u’%ﬁ\
i - |+mma- Ponoun o \{ S,
T TEI Froekrnf A-A, witmwha uamicta ——




Sciggnij Poradnik instalacji:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

SWS310 — modut wagowy pracujgcy na rozcigganie » Poradnik instalacji

Zaplanuj uktad

Prety
Fotwoym
N/
Py [t:--.ﬂ Pii
m"‘“ﬂil |||||'"'| i Poczymiom

ez R N
METTLER @ i
Lo tancuchy
O
[ M—— Wepomik
mOnbazowy
Zolomnidka
Uiy Kiosza
T — l ZASTOSUJ EANCUCHY LUB PRETY 5
*’ﬂLF'_ITJ ] T L ZABEZPIECZAJACE, ABY ZAPOBIEC
oz /(2T HP UPADKOWI ZBIORNIKA W PRZY- \ ‘
Podwtina
/ - Piytc - PADKU AWARII PODZESPOLU |
Wskazowki i Srodki ostroznosci pOdCZUS iI'IS'l'(Il(ICji ﬁWsprowie rozruchu i kalibracji nalezy skontakiowag sie
* Nigdy nie przedtuzaj ani nie skracaj przewodu czujnika wagowego. z autoryzowanym fechnikiem serwisowym METTLER TOLEDO.
* Unikoj wilgoci | pytu. Dane kontaktowe:
e Zapewnij stabilnos¢ napiecia (uzyj zasilacza regulowanego). » pl.mt.com/contact

e Unikaj pfzequenlq | v.vs’rrzqsow. © 2016 Mettler-Toledo, LLC
¢ /apewnij dobre uziemienie. 05/2016 130328691B



Stdhnéte si montdZni ndvod:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

SWS310 / Tenzometricky vahovy modul » Montdzni ndvod

» www.mt.com/ind-downloads-sws310-sIs510

NeZli zaCnete

Calibration Certificate

KEEP O
DOCUMENTS!

@ Potfebné nastroje:

-——©b§
%

Kabel snimace nezkracujte ani neprodluzZuijte.
Pred zahdjenim svarovani vzdy vyjméte snimac.

\olitelné kontrolni konfigurace (dodava zdkaznik)

V@zivosti vahovych modulli a rozméry zavitd tfmend v
Véazivost modulu SWS310 Rozméry zdvitd tfmeni ui |
50-300 Ib 3/8-16 UNC
500-3 000 Ib 5/8-11 UNC . -
5 00010 000 Ib 1-8 UNC o
15 00020 000 Ib 1.375-6 UNC E E # "'"""“\‘
50-100 kg M8 x 1,25 Boini stEna nddoby
250-1 000 kg M12x 1,75 — —
2 500-5 000 kg M27 x 3 ”’E’?f"\\ \{
7 500 kg M30 x 3,5 T ) Bl L-u- SV Hie
10 000 kg M36 x 4 [E | ®ezA-Ascdstanéwym vzhamm plechem TNDCNG Eousne




Stdhnéte si montdZni ndvod:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

SWS310 / Tenzometricky vahovy modul » Montdzni ndvod

Priprava dispozicniho planu

TyCe

Pododkn
%
maf
[
"""‘“““"Hll |||[||

1l POMOCi BEZPECNOSTNICH 5
st Pl f bl RETEZU NEBO TYCI ZAJISTETE
et el _‘4\ NADOBU PROTI PADU ‘
[T il V PRIPADE SELHANI SOUCASTI.
PG
Tipy a bezpecnostni pokyny k montdzi ﬁsmsféqm kalibraci zajigfuje autorizovany
¢ Kabel snimace nezkracujfe ani neprodluZuijte. servisni technik METTLER TOLEDO.
e \/yvarujte se vnikani vihkosti a prachu. Kom-qk-l-m’ informuce:
e /qjistéte pf'l’vodl sTobjlniho nor{éh’vgpogél’,vejte, reogulovony napdjeci zdroj). > WWW.mt.com/contact
¢ Nevystavujte vahovy modul pretézovani a razum. © 2016 Meffler-Toledo, LLC

e /qjistéte fradne uzemnéni. 05/2016 1303286918



METTLER TOLEDO

SWS310 / felfiiggesztett méromodulok » Telepitési utmutato

A telepitési Gtmutaté letoltése:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

» www.mt.com/ind-downloads-sws310-sIs510

Mielott elkezdené

el a mérdcelldt.

Calibration Certificate

KEEP O
DOCUMENTS!

@ Szlikséges szerszamok:

Ne toldja meg a merGcella kabelét, és ne is
vagja meretre. Hegesztés el6it mindig tavolitsa

P- G
P

7
== o

A mérémodulok kapacitdsa és a fuggesztéhorog menetmeretei

SWS310 méromodul-kapacitds

A fiiggesztéhorog menetméretei

50-300 font 3/8-16 UNC
500-3000 font 5/8-11 UNC
5000-10 000 font 1-8 UNC
15 00020 000 font 1,375-6 UNC
50100 kg M8 x 1,25
250-1000 kg M12 x 1,75
2500-5000 kg M27 x 3
7500 kg M30 x 3,5
10 000 kg M36 x 4

Opcionalis ellen6rzd konfiguraciok (az ugyfél biztositja)

I-

(-l

]

A tartily pidala

L~




A telepitési Gtmutaté letdltése:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,

[m] P : Pycckuit, Turkge
» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310 / felfiiggesztett méromodulok » Telepitési utmutaté

Tervezze meg 0z elrendezését

Rudak Kdbelek
O - ) 0
Dupio
", O MTYIEETVN I
FY v
m"““ﬂl |||||'"'||+F"
& \
Sradiernll B
EmoEAdK
AMETILER | oene- e ]
TOUEDO 5,
O
L —— ooy
&g garat
rdgzitaksm
HASZNALJON BIZTONSAGI LAN- _
g : - COKAT VAGY RUDAKAT, HOGY
. e " ) MEGAKADALYOZZA A TARTALY
- ]m L.J’\ LEZUHANASAT AZ ALKATRESZEK
TonaTE 7 1 z
[ MEGHIBASODASA ESETEN
Al
Telepl"l'éSi Ilppek és ovintézkedések Fra® A clinditdshoz és kalibrdldshoz vegye fel a kapesolatot
* Ne toldja meg a mér6cella kabelét, és ne is vdgja mérefre. ﬂ hivatalos METTLER TOLEDO szerviztechnikussal.
e Keriilje a nedvességet és a port. E|érhe'|-63ég| adatok:

* Gondoskodjon stabil feszlltseégrol (haszndljon stabilizalt tapegyseget). » www.mt.com/contact
e Kerllje a tulferhelést eés I0késszerd ferheléseket. © 2016 Mettier-Toledo. LLC
¢ Gondoskodjon a megfelel6 foldelésrol. 05/2016 | 303286918



METTLER TOLEDO

SWS310/ BecoBOi MOAYAb pacTsXXeHus » PYKOBOACTBO MO YCTUHOBKE

CKayaTb PYKOBOACTBO MO YCTAHOBKE:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckui, Turkce

» www.mt.com/ind-downloads-sws310-sIs510

[epeA HAYAAOM padoT

HK B KOEM CAy4QE He UBMEHSITE AAMHY KOBeAs]
AQTYMKA Becd. [NepeA CBAPKOWM BCEMAQ CHUMAITE
AQTYMK Beca.

Calibration Certificate

KEEP O
DOCUMENTS!

@ Bam notpebytotesi:
> —s
=
ra &5 2 1

HIB BeCOBbIX MOAYAE 11 pa3MepPbl pe3bObl TIrOBOrO MPYXKMHHOTO KPHOKA

HNB BecoBoro MoAyAs SWS310 P“f,“;iﬁ(ﬂfﬁgfz',{;'{,‘.’;°m
50-300 dyHTOB (22,7136 Kr) 3/8-16 UNC
B
2268 4536010 1-8 UNC
s
50-100 kr M8x 1,25
250-1000 Kr MI12x1,75
2500-5000 Kkr M27x 3
7500 Kr M30x 3,5
10 000 Kkr M36 x 4

AOnycTUMbIe BAPUAHTbI KOH(I)VII'yp(]LI,l/II/I (OCyLLI,eCTBAS'I}OTCS'I 30KA34MKOM)

A ashe 178 g —je—

i i

e
RN 1
i 8

N ] g
- - Copa

Il il §  Cmm

u’%z,f\
T T II s AR pofipn 3BEoHETTH ¥ ADADHE S




CKayaTb PYKOBOACTBO MO YCTAHOBKE:
EU-W:  English, Deutsch, Espafiol,
Frangais, Italiano, Nederlands, Portugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckui, Turkce

METTLER TOLEDO

SWS310/ BecoBOi MOAYAb pacTsXXeHUs » PYKOBOACTBO N0 YCTAHOBKE

CocCTaBbLTE CXeMY PA3MELLEHWS]

CTep>KHU

:
HE

M—— OnopHaa

oToMKa
peacpryapa
VikM GyHicepa
s 1 _¢_ NMPUMEHSUTE NPEAOXPAHUTEABHBIE 5
- | —3 1Aaakm LLENWU U CTEPXHW BO U3BEXXAHUE
0 - (o B
- o RN NAAEHWS PE3EPBYAPA MPU OTKA3E
/ w Omyecm AAEMEHTA KOHCTPYKUUU
WK
ILinifin °
CoBeTbl 10 YCTAHOBKE U Mepbl NPeAOCTOPOXXHOCTH ﬁ OGpaTHTeCh K CePBYCHOMY MpeACTaBuTeno METTAEP TOAEAO
® Hu B KOEM CAy4Qae He YBEAVYMBAMTE U HE YMEHbLLIANTE AAVHY KOOeAst AOTYMKA Beca. 30 NOMOLLbO B HACTPOKE 11 KAANOPOBKE BECOBbIX MOAYAEH.
* 136erainTe BAQrA 1 MbIAW. KOHTAKTHbBIE ACGHHbIE:
o O6ecne:4bTe CTABMALHOE HaMpshKeHWe (MCMOAb3YITE PETYAVPYEMOE SAEKTPOMUTAHME). > WWW.mt.com/contact
* Wsberaite neperpyaok 1 yAGpos. © 2016 Mettler-Toledo, LLC

e ObecreybTe XopoLLIee 3a3eMAeHMe. 05/2016 130328691B



Kurulum Kilavuzunu indirin:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
EUE:  Polski, Cestina, Magyar,
Pycckun, Tirkce

METTLER TOLEDO

SWS310 / Gerilim Tartim Modiilu » Kurulum Kilavuzu

» www.mt.com/ind-downloads-sws310-sIs510

Baslamadan Once

YUk hicresinin kablo uzunlugunu asla uzatmayin
veya kesmeyin. Kaynak isleminden 6nce her
zaman yuk hucresini ¢ikarin.

Opsiyonel Kontrol Tartimi Yapilandirmalarr (Mdsteri tarafindan saglanir)

Calibration Certificate

KEEP O
DOCUMENTS!

@ Intiyaciniz Olan Araglar:

-——©b§
%

Tarlim Modullu Kapasiteleri ve Kenet Halkasi Yiv Boyutlari Do
SWS310 Tartim Modiilii Kapasitesi Kenet Halkasi Yiv Boyutlari I' "% ” {
50-300 Ib 3/8-16 UNC
500-3.000 Ib 5/8-11 UNC - .
5.000-10.000 Ib 1-8 UNC o
15.000-20.000 Ib 1,375-6 UNC l=ﬂ?ﬂ A ME—? mﬁ“\“‘
50-100 kg M8 x 1,25 B Teknenin Kean
250-1000 kg M12 x 1,75 - "_
2500-5000 kg M27 x 3 ‘ ”’E’ffk\ \{
7500 kg M30 x 3,5 5 -.I DGy 50N Hie
10.000 kg M36 x 4 I - ok A-A, Keyebent Gilankd: % MoOOD Sism




Kurulum Kilavuzunu indirin:
EU-W:  English, Deutsch, Espafiol,
Francais, Italiano, Nederlands, Porfugués
EUN:  Svenska, Dansk, Norsk
1 EUE: Polski, Cestina, Magyar,
[m] P ! Pycckuii, Tiirkge

» www.mt.com/ind-downloads-sws310-sis510

METTLER TOLEDO

SWS310 / Gerilim Tartim Modiili » Kurulum Kilavuzu

Yerlesim Duzeninizi Planlayin

Cubuklar Kablolar

o
cafarr
——  Covanilk Gubulju NG
Zincirler
e Tank vayo
Essleme Hunisl
Monia] Dasiai
R _¢_ BILESEN BOZULDUGUNDA TEK- . H
T T NENIN DUSWESIN| ONLEME
Pigkn oo ! - ICIN GUVENLIK ZINCIRLERINI
/ Rl e VEYA CUBUKLARI KULLANIN
(1]
Kurulum Ipuclari ve Tedbirleri &= Cqlisfirma ve kalibrasyon icin yetkili METTLER
e Yiik hicresinin kablo uzunlugunu asla uzatmayin veya kesmeyin. ﬂ TOLEDO servis feknisyeniyle ilefisime gegin.
e Nem ve tozdan kaginin. Irtibat B||g||er|

e \/oltajin sabit oldugundan emin olun (ayarli gi¢ kaynagi kullanin). » www.mt.com/contact
e Elekirik yuklenmesi ve elektrik carpmasindan korunun. © 2016 Meffier-Toledo. LLC

* lyi bir zemin segtiginizden emin olun. 05/2016 130328691B



